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(1); In the 21st century, a government that cannot
protect its citizens’ right to privacy cannot credibly
maintain a democratic regime of equal treatment
under the law.

(2); Aadhaar and the right to privacy.

(4); Right to adequate standard of living.

(2); The government’s most basic obligation is to
protect its citizens’ rights.

(1); In the 20th century, governments that recognised
no private sphere of thought, expression, and action
outside their reach and the ruling party’s reach.

(1); Interim means in or for the intervening period.
So, Provisional is the word which is similar in meaning
to it.

(2); Simultaneous means occurring, operating, or
done at the same time. So, Coexisting is the word
which is similar in meaning to it.

(1); Autonomously means existing as an independent
entity. So, Dependent is the word which is opposite in
meaning to it.

(2); Destruction means an event that completely
ruins something. So, Restoration is the word which is
opposite in meaning to it.

(4); Obligation means the state of being bound to do
or pay something. So, Disagreement is the word which
is opposite in meaning to it.

For questions (71-75): The proper sequence of sentences

to form a meaningful paragraph will be DBACE

71.(2); B
72.(3); C
73.(4); D
74.(1); A
75.(5); E

76.

77.
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(4); ‘set the tone’ fits the sentence appropriately as it
conveys the proper meaning of the sentence.
(5); No correction required.
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78. (4); ‘had to put up to’ fits the sentence appropriately as

79.

80.

81.

82.

83.

84.

85.

86.

it makes the sentence structure grammatically correct.
(4); ‘Emotions ran high'’ fits the sentence appropriately
and it is an idiom which means
to be in a state of excitement or anger.

(5); No correction required.

(4); The struggle to dominate the remaining supplies
is intense, nowhere more so than in the Caspian basin.

(2); But investment by many of our multinationals has
not enriched its people but impoverished them.

(2); No one disputes the fact that an exponential
growth in the availability of car loans has made it
more likely for a middle class consumer to graduate
from a scooter to a car.

(3); For this to happen, the act must give them
effective and durable entitlements.

(3); It is like coming out from maternity ward to
nursery.

(1); ‘cited, reason’ is the correct use.

Cited means refer to as evidence for or justification of an

87.

argument or statement, especially in a scholarly work.
(2); ‘accept, revolves’ is the correct use.

Revolves means move in a circle on a central axis.

88.
89.
90.
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(4); ‘behaviour, conclusion’ is the correct use.
(5); ‘escape, innocent’ is the correct use.
(3); ‘match, challenge’ is the correct use.
(5)

(3)

(2)

(2)

(4)

(5)

(1)
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